Math Numbers Operations and Algebra 3_3
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2 kids share these balls evenly.

There are 3 packs of gum. Each pack

all?
A. 16
B. 18
C. 12 C. 4
3 4.
24
20+2=10 120
6
2x10=
— ? - _

A. 18 A. 16
B. 12 B. 18

C. 20 C. 24



Matt gets $0.10 every 2 days.

How much does he get in 6 days?

4 kids share 12 gumballs evenly. How
many does each one get?

A. $0.20

B. $0.30

C. $0.60 C.3
7 8.

(4x_)=(@x4)

Which shows how many trees?

A.5+3 A 4
B. 5x5 B. 3
C.5x%x3 C. 12



3x4=12
12+3=__
A. 12
B. 3
C. 4
1.
_ x6=36
B. 7

10.
0.0 0 0 0 0 0.0 0.0
000 OOO OOO OOO OOO
5x5=25
25+5=
A. 10
B. 5
C. 25
12.
2x =18
A. 8
B. 9

C. 10




13.

eo|0|0® _
eo|0|®
A 1x3
B. 3x6
C. 3x2
15.
5x (8 +16) =

A. (5 x 8)+ (5 x 16)
B. (8 x 16) + (5 x 16)
C. (5+8)x(5+16)

14.
(3x5)+(3+12)=
A. 8+ 15
B. 15+ 15
C. 15+ 36
16.
o0 o0 _
([2e]x([22])=
A. (6 % 6)
B. (6 + 6)
C. (6-6)
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